THXTFEE EREEFRERSAKTRSE

F14RIN\RR—ILKE KR
BHA $MMxE7H6H(L)-138(L)
218 EETHRASELE(6H)

WHEHBAAREEONSH)

1. iA#EHE
[BFDE]
= [ T 3L P8 =2 4%
17 27
9 - 12
8 - 15
28 19 19 24
13 - 11 9 - 15
15 - 8 10 - 9
18 29 27 15
11 - 13 12 - 6
7 - 16 15 - 9
H = T = = =
fit] 1= [if] [if]
=S ] H 2] [if] 7
[ZFDER)
H BT H B R
28 | 19
14 - 10
14 - 9
37 11 14 22
21 - 4 4 - 13
16 - 7 10 - 9
H = W = =
S it =3 B [£3]
CEXE TFDE
B EE I DR H ST H 8
(84E#RY2E ) (34E#RY2EH)
R H BBT AT H 5 R EE TR PR
sk BT R PR BT R PR
- BETI T E btk EE I EDER

U—F ISR ER

15 | 22
5 - 1
10 - 11
T =
- [ig]
H [E3]




